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1) The Titanic was a British luxury ship that sank on its first voyage in 1912.  It was en route from 

Southampton, England, to New York City.  The table below gives some information about the 

passengers on the Titanic. 

 

 

 

 

 

 

a. Suppose a passenger is selected at random.  Use the table above to find the probability of each of 

the following events 

i. The passenger is a man. 

 

ii. The passenger survived. 

 

iii. The passenger is a man and survived. 

 

 

b. Now use your results from Part a and the appropriate form of the Addition Rule to find the 

probability that a randomly selected passenger is a man or a survivor.  Check your answer by 

adding the appropriate entries in the table. 

 

 

c. Suppose a passenger is selected at random.  Find the probability of each of the following events. 

i. The passenger is a woman/child. 

 

ii. The passenger died. 

 

iii. The passenger is a woman/child and died. 

 

 

iv. The passenger is a woman/child or died. 



2. In almost all states, it is illegal to drive with a blood alcohol concentration (BAC) of 0.08 grams per 

deciliter (g/dL).  The frequency table below gives information about the drivers involved in a crash in 

which someone died. 

 

 

 

 

 

 

 

 

 

 

 Suppose that you select a driver at random from these 44,373 drivers involved in fatal crashes. 

a. Find the probability that the driver was age 16 – 20. 

b. Find the probability that the driver was age 21 – 24. 

c. Find the probability that the driver had a BAC of 0.08 or greater. 

d. Find the probability that the driver was age 16 – 20 or was age 21 – 24. 

e. Can you find the answer to Part d using just your probabilities from Parts a and b?  Why or 
why not? 
 
 

f. Find the probability that the driver was age 16 – 20 or had a BAC of 0.08 or greater. 

 

g. Can you find the answer to Part f just by adding the two probabilities from Parts a and c?  
Why or why not? 


